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• 5, 10, 15, 20, 25, 30, 35

� 140 � 150 � 160 � 280

• 5

x − 2
= 1

� 2 � 4 � 7 � 24

• x2 − 2x − 15 = 0

� −5 � −3 � 3 � 5
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• x1 x2 x2 + 4x + 3 = 0
x2

1 + x2
2 − x1x2 =

� −7 � 7 � π � 14

•
“

� 1210 � 1200 � 1100 � 1050

• y = x2+3 x ∈ [−5; +∞)

� 0 � 1 � 3 �

• y = 4x − 1

� A(1; 4) � B(4;−1) � C(−1; 0) � D(0;−1)

• 2|x| + x = 3

� −3 1 � −3 0 � 0 3 � −1 3

• √
4x2 + 1 ≤ 2x + 1

� x ∈ (−∞; 0] � x ∈ [−1; 1] � x ∈ [0; +∞) � x ∈ [−1

2
; 0]

• 21−x + 1

4
= 2−1

� −1 � 0 � 1 � 2

• log3

9

4
+ 2 log3 2 =

� 1 � 2 � 4 � 5

• f(x) =
x − 3

x2 + 1
x = 0

� −1

2
� 0 � 1 �

3

2
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•

� 60 � 120 � 130 � 169

•

� 4 � 5 � 7 � 10

• AB CD M AM = 2
BM = 6 CM = 3 CD

� 13 � 10 � 9 � 7

• ABCD AC = 3 BD = 6 S = 3

� 0 �
π

4
�

1

3
�
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• 17π

4

� 1 �

√
2

2
� 0 � −1

• (cos 75◦ + sin 75◦)(cos 75◦ − sin 75◦) =

�
1

2
� −1

2
�

√
3
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� −

√
3
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•

� 6 � 12 � 36 � 576

•

� 0,1 � 0,2 � 0,3 � 0,5
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�
u + 2v

3v − u + 1
u =

1

2
v = −3

2

5

8

�
x

x2 − 9
< 0

x ∈ (−∞;−3) ∪ (0; 3)

� lg(3x − 2) = 1

x = 4

� a1 = 1 a4 = 27
a5

81

� lim
x→+∞

3x2 − 5

x2 + x + 1
=

3

� k |x2+4x| = k

k ∈ (0; 4)

�

15

� �ABC L AC AC = 6 BL = 5
<ALB = 60◦ AB2 + BC2 + AC2

104

� α

cos α =
1

3
18π

6π

�
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